
 Контрольная работа «Тригонометрические уравнения» 
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Группа A (на  «3») Группа B  (на  «4» и «5») 

 

1. cos3 cos9 0x x+ =  

2. sin3 sin 7 0x x− =  

3. sin 3 sin 0x x− =  

4. sin 3 sin 5 0x x− =  

5. cos3 cos7 0x x+ =  

6. cos 2 cos8 0x x− =  

7. cos3 cos5 0x x− =  

8. cos 4 cos6 0x x+ =  

9. sin 3 sin 9 0x x− =  

10. sin 2 sin8 0x x− =  

 

1. sin sin 2 x sin3 sin 4 0x x x− + − =  

2. sin sin 2 x sin 3 0x x+ + =  

3. cos3 sin 2 x sin 4 0x x+ − =  

4. cos9 cos6 cos3 0x x x+ + =  

5. sin 3 sin 7 x 3 cos 2x x+ =  

6. 3sin 2 cos5x cos9 0x x+ − =  

7. cos3x cos 3 sin 0x x− + =  

8. cos7 sin8x cos3 sin 2x x x+ = −  

9. ( )cos5 cos7 cos 6x x xπ+ = +  

10. sin 3 cos 5 sin 4
2
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Тип:   Преобразование суммы в произведение 


